BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024 1680-8205 (9.2)

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING ALTERNATE 1	PROPOSED CONTRACT TIME (BASE BID)	PROPOSED CONTRACT TIME (ALTERNATE 1)
1) DNT CONSTRUCTION, LLC	\$2,799,211.25	\$4,449,438.64	110/120	140/160
2) CLEARWATER UTILITIES, INC.	\$2,931,361.95	\$4,968,554.95	60/75	120/140
3) TEXAS KB UTILITIES, LLC	\$2,942,000.00	\$4,699,000.00	77/77	147/147
4) R CONSTRUCTION CIVIL, LLC	\$3,208,576.10	\$4,785,894.60	120/130	200/210
5) FELLERS AND CLARK LP	\$3,355,500.00	\$5,059,500.00	90/100	180/200

TLC CONSTRUCTION CONTRACT SERVICES, INC. SUBMITTED A BID FOR THIS PROJECT, HOWEVER THEIR BID WAS NONRESPONSIVE AND THEREFORE, CANNOT BE TABULATED.

I, Kenya Franco, PE, hereby certify these bid tabulations to be true and correct.

KENYA FRANCO

141387

CENSE

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024 1680-8205 (9.2)

2) CLEARWATER UTILITIES, INC.

3) TEXAS KB UTILITIES, LLC

1) DNT CONSTRUCTION, LLC

				1) DIVI CONSTR	RUCTION, LLC	2) CLEARWATER	UTILITIES, INC.	3) TEXAS KB U	ILITIES, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
STOKESBUR	Y SECTION 1 WATER ITEMS								
	WATER PIPE, AWWA C-900, DR 18, CLASS 235, TO INCLUDE BEDDING AND ILL, INCLUDES ALL FITTINGS AND VALVES, COMPLETE IN PLACE	LF	2382	\$46.00	\$109,572.00	\$42.00	\$100,044.00	\$43.45	\$103,497.90
INCLUI	TRAINED JOINT PVC WATER PIPE, AWWA, C-900, DR 18, ALL DEPTHS, TO DE BEDDING AND BACKFILL, INCLUDES ALL FITTINGS, VALVES, AND ALL AINED JOINTS FOR PIPE JOINTS, COMPLETE IN PLACE	LF	596	\$45.00	\$26,820.00	\$49.00	\$29,204.00	\$41.10	\$24,495.60
	ING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	9	\$6,015.00	\$54,135.00	\$5,633.00	\$50,697.00	\$5,415.00	\$48,735.00
4 PLUG	AND CLAMP (ALL SIZES), COMPLETE IN PLACE	EA	1	\$200.00	\$200.00	\$348.00	\$348.00	\$230.00	\$230.00
5 2" BLO	N-OFF VALVE AND BOX, COMPLETE IN PLACE	EA	1	\$885.00	\$885.00	\$484.00	\$484.00	\$540.00	\$540.00
THE C	METER "FAR SIDE" SINGLE WATER SERVICE CONNECTION (PER DETAIL IN DISTRUCTION DRAWINGS), INCLUDES ALL FITTINGS HARDWARE AND BOX, COMPLETE IN PLACE	EA	67	\$545.00	\$36,515.00	\$1,477.00	\$98,959.00	\$1,465.00	\$98,155.00
THE C	METER "NEAR SIDE" SINGLE WATER SERVICE CONNECTION (PER DETAIL IN DISTRUCTION DRAWINGS), INCLUDES ALL FITTINGS HARDWARE AND BOX, COMPLETE IN PLACE	EA	45	\$470.00	\$21,150.00	\$610.00	\$27,450.00	\$820.00	\$36,900.00
8 TRENO	H SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	2978	\$0.50	\$1,489.00	\$0.10	\$297.80	\$0.10	\$297.80
STOKESBUR	Y SECTION 1 WATER ITEMS SUBTOTAL:			OK	\$250,766.00		\$307,483.80		\$312,851.30
STOKESBUR	Y SECTION 1 SANITARY SEWER ITEMS								
SDR 26 WYE, F	T SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, LUG, MARKER, STACK, DROP STRUCTURES, AND ANY NECESSARY GS, ETC., COMPLETE IN PLACE	EA	37	\$990.00	\$36,630.00	\$1,509.00	\$55,833.00	\$1,180.00	\$43,660.00
26 (ALI PLUG,	IDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, MARKER, STACK, DROP STRUCTURE, AND ANY NECESSARY FITTINGS, COMPLETE IN PLACE	EA	22	\$1,235.00	\$27,170.00	\$3,725.00	\$81,950.00	\$2,950.00	\$64,900.00
	SEWER PIPE, ASTM D-3034, SDR 26, 0 - 8 FOOT CUT, TO INCLUDE NG AND BACKFILL, COMPLETE IN PLACE	LF	902	\$29.00	\$26,158.00	\$61.00	\$55,022.00	\$46.80	\$42,213.60
	SEWER PIPE, ASTM D-3034, SDR 26, 8 - 12 FOOT CUT, TO INCLUDE NG AND BACKFILL, COMPLETE IN PLACE	LF	2242	\$32.00	\$71,744.00	\$63.00	\$141,246.00	\$46.80	\$104,925.60
5 STAND	ARD SANITARY SEWER MANHOLE (0' – 8' DEPTH), COMPLETE IN PLACE	EA	16	\$2,800.00	\$44,800.00	\$2,453.00	\$39,248.00	\$2,855.00	\$45,680.00
6 EXTRA PLACE	DEPTH ON SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN	VF	32	\$255.00	\$8,160.00	\$124.00	\$3,968.00	\$145.15	\$4,644.80
DEPTH C900 D	ONAL COST FOR WATER AND SANITARY SEWER CROSSINGS, ALL S, INCLUDES UPGRADE TO 18' SECTION FOR RESTRAINED JOINT AWWA R 18 PIPE FOR BOTH WATER AND SANITARY SEWER LINES WHERE ABLE AND RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	EA	3	\$1,600.00	\$4,800.00	\$269.00	\$807.00	\$1,075.00	\$3,225.00
8 SANITA	ARY SEWER 6" DROP CONNECTION, ALL DEPTHS, COMPLETE IN PLACE	EA	16	\$450.00	\$7,200.00	\$685.00	\$10,960.00	\$750.00	\$12,000.00
9 TRENO	H SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	4895	\$1.00	\$4,895.00	\$0.10	\$489.50	\$0.10	\$489.50
STOKESBUR	Y SECTION 1 SANITARY SEWER ITEMS SUBTOTAL:				\$231,557.00		\$389,523.50		\$321,738.50

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1
HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024 1680-8205 (9.2)

LJA JOB NO.		'	000-0203 (9.2)					
			1) DNT CONSTRI	JCTION, LLC	2) CLEARWATER U	TILITIES, INC.	3) TEXAS KB UT	ILITIES, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
STOKESBURY SECTION 1 STORM SEWER ITEMS								
1 24" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	EA	2552	\$77.00	\$196,504.00	\$76.00	\$193,952.00	\$95.75	\$244,354.00
2 36" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	332	\$141.00	\$46,812.00	\$128.00	\$42,496.00	\$159.55	\$52,970.60
3 42" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	58	\$186.00	\$10,788.00	\$170.00	\$9,860.00	\$213.05	\$12,356.90
4 48" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	154	\$221.00	\$34,034.00	\$202.00	\$31,108.00	\$248.80	\$38,315.20
5 STAGE I – STANDARD 5' REINFORCED CONCRETE PRECAST INLET ("C") ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	28	\$2,730.00	\$76,440.00	\$1,735.00	\$48,580.00	\$1,095.00	\$30,660.00
6 TYPE "C" PRECAST OR CAST-IN-PLACE MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	18	\$4,150.00	\$74,700.00	\$3,306.00	\$59,508.00	\$2,665.00	\$47,970.00
7 STAGE II – STANDARD 5' REINFORCED CONCRETE PRECAST OR REINFORCED CONCRETE CAST-IN-PLACE (4,000 PSI) INLET ("C"), COMPLETE IN PLACE	EA	28	\$1,200.00	\$33,600.00	\$1,371.00	\$38,388.00	\$1,910.00	\$53,480.00
8 TYPE "C" PRECAST OR CAST-IN-PLACE MANHOLE FOR 72" STORM SEWERS AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$9,650.00	\$9,650.00	\$7,746.00	\$7,746.00	\$3,720.00	\$3,720.00
9 TYPE "C" PRECAST OR CAST-IN-PLACE MANHOLE WITH "E" INLET TOP FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$4,050.00	\$4,050.00	\$4,118.00	\$4,118.00	\$3,655.00	\$3,655.00
10 REINFORCED CONCRETE TYPE "A" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,900.00	\$5,800.00	\$3,394.00	\$6,788.00	\$3,355.00	\$6,710.00
11 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	3115	\$1.00	\$3,115.00	\$0.10	\$311.50	\$0.10	\$311.50
STOKESBURY SECTION 1 STORM SEWER ITEMS SUBTOTAL:				\$495,493.00		\$442,855.50		\$494,503.20
STOKESBURY ROAD WATER ITEMS								
1 12" PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235, TO INCLUDE BEDDING AND BACKFILL, INCLUDES ALL FITTINGS AND VALVES, COMPLETE IN PLACE	LF	3118	\$73.00	\$227,614.00	\$73.00	\$227,614.00	\$74.65	\$232,758.70
2 12" RESTRAINED JOINT PVC WATER PIPE, AWWA, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING AND BACKFILL, INCLUDES ALL FITTINGS, VALVES, AND ALL RESTRAINED JOINTS FOR PIPE JOINTS, COMPLETE IN PLACE	LF	106	\$143.00	\$15,158.00	\$145.00	\$15,370.00	\$72.30	\$7,663.80
3 8° PVC WATER PIPE, AWWA, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING AND BACKFILL, INCLUDES ALL FITTINGS, VALVES, AND ALL RESTRAINED JOINTS FOR PIPE JOINTS, COMPLETE IN PLACE	LF	104	\$150.00	\$15,600.00	\$42.00	\$4,368.00	\$82.70	\$8,600.80
4 8" RESTRAINED JOINT PVC WATER PIPE, AWWA, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING AND BACKFILL, INCLUDES ALL FITTINGS, VALVES, AND ALL RESTRAINED JOINTS FOR PIPE JOINTS, COMPLETE IN PLACE	LF	24	\$94.00	\$2,256.00	\$49.00	\$1,176.00	\$44.65	\$1,071.60
5 FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	7	\$5,400.00	\$37,800.00	\$5,633.00	\$39,431.00	\$5,215.00	\$36,505.00
6 PLUG AND CLAMP (ALL SIZES), COMPLETE IN PLACE	EA	3	\$300.00	\$900.00	\$348.00	\$1,044.00	\$380.00	\$1,140.00
7 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	3352	\$0.50	\$1,676.00	\$0.10	\$335.20	\$0.10	\$335.20
8 2" BLOW-OFF VALVE AND BOX, COMPLETE IN PLACE	EA	3	\$740.00	\$2,220.00	\$484.00	\$1,452.00	\$540.00	\$1,620.00
STOKESBURY ROAD WATER ITEMS SUBTOTAL:				\$303,224.00		\$290,790.20		\$289,695.10

FRN F-1386 Page 3 of 21 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024 1680-8205 (9.2)

			1) DNT CONSTRI	LICTION II C	2) CLEARWATER U	ITILITIES INC	3) TEXAS KB UT	TILITIES I.I.C
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
STOKESBURY ROAD SANITARY SEWER ITEMS								
1 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 12 - 16 FOOT CUT, TO INCLUDE BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1518	\$40.00	\$60,720.00	\$64.00	\$97,152.00	\$49.95	\$75,824.10
2 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 16 - 12 FOOT CUT, TO INCLUDE BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1694	\$41.00	\$69,454.00	\$72.00	\$121,968.00	\$49.95	\$84,615.30
3 12" PVC SEWER PIPE, ASTM D-3034, SDR 26, 20-24 FOOT CUT, TO INCLUDE BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	130	\$69.00	\$8,970.00	\$113.00	\$14,690.00	\$75.25	\$9,782.50
4 STANDARD SANITARY SEWER MANHOLE (0' – 8' DEPTH), COMPLETE IN PLACE	EA	20	\$2,800.00	\$56,000.00	\$2,453.00	\$49,060.00	\$3,130.00	\$62,600.00
5 EXTRA DEPTH ON SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	194	\$226.00	\$43,844.00	\$124.00	\$24,056.00	\$145.15	\$28,159.10
6 ADDITIONAL COST FOR WATER AND SANITARY SEWER CROSSINGS, ALL DEPTHS, INCLUDES UPGRADE TO 18' SECTION FOR RESTRAINED JOINT AWWA C900 DR 18 PIPE FOR BOTH WATER AND SANITARY SEWER LINES WHERE APPLICABLE AND RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	EA	1	\$3,850.00	\$3,850.00	\$269.00	\$269.00	\$1,075.00	\$1,075.00
7 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	5093	\$1.00	\$5,093.00	\$0.15	\$763.95	\$0.10	\$509.30
STOKESBURY ROAD SANITARY SEWER ITEMS SUBTOTAL:				\$247,931.00		\$307,958.95		\$262,565.30
STOKESBURY ROAD STORM SEWER ITEMS								
1 24" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	412	\$76.00	\$31,312.00	\$76.00	\$31,312.00	\$94.40	\$38,892.80
2 48" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	39	\$224.00	\$8,736.00	\$202.00	\$7,878.00	\$247.85	\$9,666.15
3 54" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	43	\$352.00	\$15,136.00	\$296.00	\$12,728.00	\$348.20	\$14,972.60
4 60° RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	289	\$400.00	\$115,600.00	\$345.00	\$99,705.00	\$404.45	\$116,886.05
5 TYPE "C" PRECAST OR CAST-IN-PLACE MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$3,400.00	\$13,600.00	\$3,306.00	\$13,224.00	\$2,830.00	\$11,320.00
6 TYPE "C" PRECAST OR CAST-IN-PLACE MANHOLE FOR 48" STORM SEWERS AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$8,900.00	\$35,600.00	\$12,247.00	\$48,988.00	\$4,490.00	\$17,960.00
7 STAGE I – STANDARD 5' REINFORCED CONCRETE PRECAST INLET ("C") ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	4	\$2,400.00	\$9,600.00	\$1,735.00	\$6,940.00	\$1,095.00	\$4,380.00
8 STAGE II – STANDARD 5' REINFORCED CONCRETE PRECAST OR REINFORCED CONCRETE CAST-IN-PLACE (4,000 PSI) INLET ("C"), COMPLETE IN PLACE	EA	4	\$985.00	\$3,940.00	\$1,317.00	\$5,268.00	\$1,910.00	\$7,640.00
9 PROPOSED DRAINAGE SWALE, 3:1 SS, V-BOTTOM, GRADE TO DRAIN, INCLUDING HYDROMULCH AND WATERING, COMPLETE IN PLACE	LF	65	\$1.25	\$81.25	\$5.00	\$325.00	\$3.55	\$230.75
10 6:1 SAFETY END TREATMENT FOR 24" STORM SEWER, INCLUDES SLOPE PAVING, COMPLETE IN PLACE	EA	2	\$2,350.00	\$4,700.00	\$1,379.00	\$2,758.00	\$1,775.00	\$3,550.00
11 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	916	\$1.00	\$916.00	\$0.10	\$91.60	\$0.10	\$91.60
STOKESBURY ROAD STORM SEWER ITEMS SUBTOTAL:				\$239,221.25		\$229,217.60		\$225,589.95

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024

LJA ENGINEERING, INC.
A. OTTO
MAY 28, 2024

20,1002,101			()					
			1) DNT CONSTI	RUCTION, LLC	2) CLEARWATER	2) CLEARWATER UTILITIES, INC.		TILITIES, LLC
ITEM DESCRIPTION	UNI	T QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
STOKESBURY DETENTION ITEMS								
1 BACKSLOPE SWALE, INCLUDES EXCAVATION, STRIPPING, S' STRIPPINGS, PLACEMENT, AND COMPACTION TO 95% STANI DENSITY, WITH 8" LIFTS AND RE-APPLICATION OF STRIPPING PLACE	DARD PROCTOR	9874	\$3.00	\$29,622.00	\$3.15	\$31,103.10	\$2.70	\$26,659.80
2 BACKSLOPE INTERCEPTOR STRUCTURE, INCLUDES 24" CMF (ASPHALT COATED), 4" THICK CONCRETE SLOPE PAVING, CO		22	\$9,000.00	\$198,000.00	\$9,437.00	\$207,614.00	\$12,285.00	\$270,270.00
3 5" REINFORCED CONCRETE EXTREME EVENT OVERFLOW S' BOTTOM, 5:1 SS MAX, INCLUDING TOE WALL, COMPLETE IN I		123	\$106.00	\$13,038.00	\$132.00	\$16,236.00	\$106.60	\$13,111.80
STOKESBURY DETENTION ITEMS SUBTOTAL:				\$240,660.00		\$254,953.10		\$310,041.60
STOKESBURY DRAINAGE STRUCTURES ITEMS								
1 24" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE I BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	BEDDING AND LF	86	\$87.00	\$7,482.00	\$76.00	\$6,536.00	\$94.10	\$8,092.60
2 30" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE E BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	BEDDING AND LF	48	\$103.00	\$4,944.00	\$92.00	\$4,416.00	\$119.75	\$5,748.00
3 54" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE I BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	BEDDING AND LF	368	\$350.00	\$128,800.00	\$296.00	\$108,928.00	\$349.55	\$128,634.40
4 60" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE I BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	BEDDING AND LF	270	\$400.00	\$108,000.00	\$345.00	\$93,150.00	\$402.70	\$108,729.00
5 60" HDPE STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	BEDDING AND LF	295	\$210.00	\$61,950.00	\$155.00	\$45,725.00	\$224.25	\$66,153.75
6 7'X6' RCB STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	E BEDDING AND LF	132	\$810.00	\$106,920.00	\$745.00	\$98,340.00	\$800.90	\$105,718.80
7 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF LF	3262	\$1.00	\$3,262.00	\$0.10	\$326.20	\$0.10	\$326.20
8 REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STOR LARGER, INCLUDES ADJUSTMENTS. ALL DEPTHS, COMPLET		1	\$10,290.00	\$10,290.00	\$9,000.00	\$9,000.00	\$5,885.00	\$5,885.00
9 REINFORCED CONCRETE STORM SEWER JUNCTION BOX WI INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE		1	\$12,900.00	\$12,900.00	\$18,535.00	\$18,535.00	\$10,750.00	\$10,750.00
10 REINFORCED CONCRETE STORM SEWER JUNCTION BOX, IN ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	ICLUDES EA	1	\$15,000.00	\$15,000.00	\$13,500.00	\$13,500.00	\$12,845.00	\$12,845.00
11 BORE AND JACK FOR 60° RCP (EXCLUDES LINE PIPE), INCLU DEPTHS, COMPLETE IN PLACE	DES BORE PITS, ALL EA	75	\$1,200.00	\$90,000.00	\$911.00	\$68,325.00	\$784.75	\$58,856.25
12 4" REINFORCED CONCRETE SLOPE PAVEMENT WITH TOE W COMPLETE IN PLACE	ALLS ALL AROUND, SY	356	\$78.00	\$27,768.00	\$124.00	\$44,144.00	\$96.45	\$34,336.20
13 18" THICK RIP-RAP, COMPLETE IN PLACE	SY	110	\$104.00	\$11,440.00	\$97.00	\$10,670.00	\$86.00	\$9,460.00
14 STANDARD HARRIS COUNTY FLOATABLE COLLECTION SCRE STORM SEWER, COMPLETE IN PLACE	EEN FOR A 24" RCP EA	1	\$8,990.00	\$8,990.00	\$26,983.00	\$26,983.00	\$7,525.00	\$7,525.00
15 STANDARD HARRIS COUNTY FLOATABLE COLLECTION SCRE STORM SEWER, COMPLETE IN PLACE	EEN FOR A 30" RCP EA	1	\$8,990.00	\$8,990.00	\$30,261.00	\$30,261.00	\$9,675.00	\$9,675.00
16 REGRADE AND REPAIR SIDE SLOPES TO EXISTING OR BETT WITHIN FUTURE HARRIS COUNTY SPRING CREEK R.O.W., CO.		1	\$400.00	\$400.00	\$3,763.00	\$3,763.00	\$2,690.00	\$2,690.00

1680-8205 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024 1680-8205 (9.2)

EUR JOB NO.		1000 0200 (0.2)							
				1) DNT CONSTRI	UCTION, LLC	2) CLEARWATER U	JTILITIES, INC.	3) TEXAS KB UTILITIES, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	STURBED SIDE SLOPES TO EXISTING OR BETTER CONDITIONS WITHIN TOKESBURY PONDS, COMPLETE IN PLACE	LS	1	\$6,591.00	\$6,591.00	\$3,763.00	\$3,763.00	\$2,951.75	\$2,951.75
	G OF EXISTING ROADSIDE DITCH, INCLUDING DEMUCKING EXISTING IPLETE IN PLACE	LF	580	\$3.00	\$1,740.00	\$3.75	\$2,175.00	\$16.15	\$9,367.00
19 18" THICK R COMPLETE	IP-RAP, TO BE USED IN ROADSIDE DITCH ALONG CASTLE ROAD, IN PLACE	SY	170	\$104.00	\$17,680.00	\$97.00	\$16,490.00	\$86.00	\$14,620.00
STRIPPING STANDARD	DILS, INCLUDE HAULING EXCAVATED MATERIAL ONSITE, INCLUDING STOCKPILE STRIPPINGS, PLACEMENT, AND COMPACTION TO 95% PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADINGS, AND ATTON OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$11,500.00	\$11,500.00	\$15,918.00	\$15,918.00	\$19,490.00	\$19,490.00
	NG FOR STORM SEWER (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DMPLETE IN PLACE	LF	1000	\$10.00	\$10,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00
STOKESBURY DR	AINAGE STRUCTURES ITEMS SUBTOTAL:				\$654,647.00		\$621,948.20		\$622,853.95
STOKESBURY PH	ASE 1 WS&D MISCELLANEOUS ITEMS								
	NFORCED FILTER FABRIC FENCE (TO BE USED ONLY AT THE OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$2.25	\$225.00	\$0.10	\$10.00	\$1.35	\$135.00
	ER FABRIC FENCE (TO BE USED ONLY AT THE DIRECTION OF THE , COMPLETE IN PLACE	LF	100	\$2.00	\$200.00	\$0.10	\$10.00	\$1.35	\$135.00
	LAP BAG BARRIER ON INLET (TO BE USED ONLY AT THE DIRECTION GINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$1.00	\$1.00	\$40.00	\$40.00
4 EXTRA SILT	FENCE INLET PROTECTION BARRIER, COMPLETE IN PLACE	EA	1	\$200.00	\$200.00	\$1.00	\$1.00	\$40.00	\$40.00
5 EXTRA HYD	RO-MULCH SEEDING, COMPLETE IN PLACE	AC	1	\$2,500.00	\$2,500.00	\$1,828.00	\$1,828.00	\$1,990.00	\$1,990.00
6 EXTRA WAT	ER LINE FITTINGS, COMPLETE IN PLACE	TON	0.1	\$10,000.00	\$1,000.00	\$1.00	\$0.10	\$1.00	\$0.10
	IENT STABILIZED SAND BACKFILL (2.5 SACKS PER TON) (TO BE USED IE WRITING DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	CY	10	\$50.00	\$500.00	\$30.00	\$300.00	\$1.00	\$10.00
	IT OF SANITARY SEWER WET SAND CONSTRUCTION, ALL LINE SIZES IS (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), IN PLACE	LF	500	\$20.00	\$10,000.00	\$1.00	\$500.00	\$1.00	\$500.00
	ST OF STORM SEWER WET SAND CONSTRUCTION, ALL LINE SIZES IS (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), IN PLACE	LF	100	\$20.00	\$2,000.00	\$1.00	\$100.00	\$1.00	\$100.00
	T OF WET SAND CONSTRUCTION UNDER MANHOLE, ALL DEPTHS (TO NLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$20.00	\$20.00	\$1.00	\$1.00	\$1.00	\$1.00
	NG FOR UTILITY LINES, ALL LINES SIZES AND DEPTHS (TO BE USED HE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	500	\$10.00	\$5,000.00	\$1.00	\$500.00	\$10.00	\$5,000.00
	ADCAST SEEDING (TO BE USED ONLY AT THE DIRECTION OF THE , COMPLETE IN PLACE	AC	1	\$362.00	\$362.00	\$1.00	\$1.00	\$805.00	\$805.00
	ISTING MANHOLE RIM ELEVATION AS REQUIRED (TO BE USED ONLY ECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$645.00	\$645.00	\$1.00	\$1.00	\$600.00	\$600.00
14 EXTRA 8" A	WWA GATE VALVE AND BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,930.00	\$1,930.00	\$1,700.00	\$1,700.00	\$500.00	\$500.00
	CONSTRUCTION EXIT, INCLUDING INSTALLATION, MAINTENANCE AND COMPLETE IN PLACE	EA	1	\$1,800.00	\$1,800.00	\$2,150.00	\$2,150.00	\$1,880.00	\$1,880.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024 1680-8205 (9.2)

LJA J	OB NO.		,	1000-0203 (9.2)						
				1) DNT CONSTR	RUCTION, LLC	2) CLEARWATER U	JTILITIES, INC.	3) TEXAS KB UT	3) TEXAS KB UTILITIES, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
	UTILITY SPOILS, FROM STOKESBURY SECTION 1, TO BE USED ON-SITE WITHIN STOKESBURY SECTION 1, STRIPPING, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, AND REAPPLICATION OF STRIPPINGS IN ACCORDANCE WITH THE CONSTRUCTION PLANS, COMPLETE IN PLACE	LS	1	\$17,150.00	\$17,150.00	\$16,500.00	\$16,500.00	\$19,490.00	\$19,490.00	
	UTILITY SPOILS, FROM STOKESBURY ROAD, TO BE USED ON-SITE WITHIN STOKESBURY ROAD, STRIPPING, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, AND REAPPLICATION OF STRIPPINGS IN ACCORDANCE WITH THE CONSTRUCTION PLANS, COMPLETE IN PLACE	LS	1	\$11,500.00	\$11,500.00	\$16,500.00	\$16,500.00	\$19,490.00	\$19,490.00	
18	ADJUST EXISTING GATE VALVE TO FINISHED GRADE AS REQUIRED (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$230.00	\$230.00	\$1.00	\$1.00	\$110.00	\$110.00	
19	STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$3,300.00	\$3,300.00	\$3,000.00	\$3,000.00	\$3,765.00	\$3,765.00	
	CONSTRUCTION STAKING BY THE CONTRACTOR, CONTRACTOR TO USE GBI PARTNERS FOR CONSTRUCTION STAKING, TO INCLUDE STAKING FOR THE WS&D SERVING STOKESBURY SECTION 1, STOKESBURY ROAD, AND STOKESBURY DETENTION AND DRAINAGE STRUCTURE AREAS. ANY RESTAKING THAT IS REQUIRED REGARDLESS OF THE REASON WILL BE CHARGED ON A TIME AND MATERIALS BASIS AND IS SEPERATE FROM THIS CONTRACT, COMPLETE IN PLACE	LS	1	\$42,600.00	\$42,600.00	\$42,600.00	\$42,600.00	\$42,600.00	\$42,600.00	
	WOOD MATS AT LOCATIONS WHERE CONTRACTOR CROSSES EXISTING PIPELINES (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), AS REQUIRED BY EXISTING PIPELINE ENTITY, INCLUDING REMOVAL AND REDRESSING OF AREA UPON COMPLETION, COMPLETE IN PLACE	LS	1	\$28,000.00	\$28,000.00	\$1.00	\$1.00	\$1,075.00	\$1,075.00	
	AIR BRIDGE AT LOCATIONS WHERE CONTRACTOR CROSSES EXISTING PIPELINES (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), AS REQUIRED BY EXISTING PIPELINE ENTITY, INCLUDING REMOVAL AND REDRESSING OF AREA UPON COMPLETION, COMPLETE IN PLACE	LS	1	\$1,600.00	\$1,600.00	\$1.00	\$1.00	\$1,075.00	\$1,075.00	
	REMOVAL AND OFFSITE DISPOSAL OF EXIST GRAVEL DRIVE CONNECTED TO CASTLE ROAD (APPROX. 27 SY), INCLUDING 25 LF OF 18" RCP, COMPLETE IN PLACE	LS	1	\$4,800.00	\$4,800.00	\$925.00	\$925.00	\$2,820.00	\$2,820.00	
	ESBURY PHASE 1 WS&D MISCELLANEOUS ITEMS SUBTOTAL:				\$135,712.00		\$86,631.10		\$102,161.10	
	RNATE 1				**		*** ***		*******	
	STOKESBURY SECTION 1 ROADWAY AND LOT EXCAVATION INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	4052	\$2.27	\$9,198.04	\$5.00	\$20,260.00	\$5.70	\$23,096.40	
	STOKESBURY SECTION 1 ROADWAY AND LOT EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	4052	\$1.26	\$5,105.52	\$5.00	\$20,260.00	\$7.80	\$31,605.60	
3	STOKESBURY SECTION 1 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	10602	\$53.32	\$565,298.64	\$56.75	\$601,663.50	\$51.00	\$540,702.00	
	STOKESBURY SECTION 1 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2015	\$5.51	\$11,102.65	\$5.00	\$10,075.00	\$4.70	\$9,470.50	
	STOKESBURY SECTION 1 4"X12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4189	\$9.50	\$39,795.50	\$5.00	\$20,945.00	\$4.70	\$19,688.30	
	STOKESBURY SECTION 1 6" LIME-FLY ASH STABILIZED SUB-GRADE (MANIPULATION), COMPLETE IN PLACE	SY	12157	\$4.27	\$51,910.39	\$5.00	\$60,785.00	\$3.55	\$43,157.35	

Page 7 of 21 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024 1680-8205 (9.2)

2) CLEARWATER UTILITIES, INC.

3) TEXAS KB UTILITIES, LLC

1) DNT CONSTRUCTION, LLC

				1) DNI CONSTR	UCTION, LLC	2) CLEARWATER U	TILITIES, INC.	3) TEXAS KB UT	LITIES, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
L	STOKESBURY SECTION 1 2% HYDRATED LIME FOR STABILIZED SUB-GRADE (9 .BS./SY BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY SEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	55	\$289.16	\$15,903.80	\$350.00	\$19,250.00	\$365.40	\$20,097.00
E	STOKESBURY SECTION 1 8% FLY ASH FOR STABILIZED SUB-GRADE (36 LBS./SY BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY SEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	219	\$289.16	\$63,326.04	\$150.00	\$32,850.00	\$131.95	\$28,897.05
	STOKESBURY SECTION 1 DOUBLE REFLECTORIZED BLUE FIRE HYDRANT BUTTONS, COMPLETE IN PLACE	LF	11	\$7.23	\$79.53	\$25.00	\$275.00	\$8.10	\$89.10
	STOKESBURY SECTION 1 PERMANENT TRAFFIC CONTROL DEVICES (INCLUDING ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, DIRECTIONAL ARROWS, STREET SIGNS, TRAFFIC SIGNS, STOP BARS, CROSSWALKS, AND TRAFFIC WARNING SIGNS PER CONSTRUCTION PLANS), COMPLETE IN PLACE	LS	1	\$5,560.74	\$5,560.74	\$17,500.00	\$17,500.00	\$9,645.00	\$9,645.00
11 8	STOKESBURY SECTION 1 TYPE III BARRICADES, COMPLETE IN PLACE	EA	1	\$1,668.22	\$1,668.22	\$2,000.00	\$2,000.00	\$1,430.00	\$1,430.00
12 8	STOKESBURY SECTION 1 FINAL LOT GRADING, COMPLETE IN PLACE	LS	1	\$18,467.61	\$18,467.61	\$90,000.00	\$90,000.00	\$65,770.00	\$65,770.00
	STOKESBURY SECTION 1 CONNECTION OF PROPOSED ASPHALT PAVEMENT TO EXISTING CASTLE ROAD, COMPLETE IN PLACE	EA	1	\$556.07	\$556.07	\$5,000.00	\$5,000.00	\$1,930.00	\$1,930.00
	STOKESBURY SECTION 1 2" HOT MIX ASPHALTIC CONCRETE, COMPLETE IN PLACE	SY	156	\$33.36	\$5,204.16	\$100.00	\$15,600.00	\$56.85	\$8,868.60
15 8	STOKESBURY SECTION 1 10" BLACK BASE, COMPLETE IN PLACE	SY	156	\$100.09	\$15,614.04	\$125.00	\$19,500.00	\$177.65	\$27,713.40
	STOKESBURY SECTION 1 PAVING HEADER FOR FUTURE DEANSTON DRIVE, COMPLETE IN PLACE	LF	28	\$61.17	\$1,712.76	\$25.00	\$700.00	\$25.40	\$711.20
	STOKESBURY SECTION 1 TYPE 7 RAMPS PER CONSTRUCTION PLANS, COMPLETE IN PLACE	EA	10	\$795.19	\$7,951.90	\$2,500.00	\$25,000.00	\$1,370.00	\$13,700.00
5	STOKESBURY ROAD ROADWAY AND LOT EXCAVATION INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	2172	\$2.27	\$4,930.44	\$5.00	\$10,860.00	\$2.85	\$6,190.20
5	STOKESBURY ROAD ROADWAY AND LOT EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	2172	\$0.93	\$2,019.96	\$5.00	\$10,860.00	\$4.90	\$10,642.80
	STOKESBURY ROAD 7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	5466	\$59.19	\$323,532.54	\$66.25	\$362,122.50	\$57.10	\$312,108.60
21 5	STOKESBURY ROAD 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3265	\$7.67	\$25,042.55	\$5.00	\$16,325.00	\$4.70	\$15,345.50
	STOKESBURY ROAD 8" LIME-FLY ASH STABILIZED SUB-GRADE (MANIPULATION), COMPLETE IN PLACE	SY	6516	\$3.94	\$25,673.04	\$5.00	\$32,580.00	\$4.00	\$26,064.00
L	STOKESBURY ROAD 2% HYDRATED LIME FOR STABILIZED SUB-GRADE (12 .BS./SY BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY SEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	39	\$289.16	\$11,277.24	\$350.00	\$13,650.00	\$365.40	\$14,250.60
١	STOKESBURY ROAD 8% FLY ASH FOR STABILIZED SUB-GRADE (48 LBS./SY BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY SEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	156	\$289.16	\$45,108.96	\$150.00	\$23,400.00	\$131.95	\$20,584.20
	STOKESBURY ROAD DOUBLE REFLECTORIZED BLUE FIRE HYDRANT BUTTONS, COMPLETE IN PLACE	EA	3	\$7.23	\$21.69	\$25.00	\$75.00	\$8.10	\$24.30

Page 8 of 21 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024 1680-8205 (9.2)

			•	()					
				1) DNT CONSTRI	UCTION, LLC	2) CLEARWATER U	TILITIES, INC.	3) TEXAS KB UT	ILITIES, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
26	STOKESBURY ROAD PERMANENT TRAFFIC CONTROL DEVICES (INCLUDING ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, DIRECTIONAL ARROWS, STREET SIGNS, TRAFFIC SIGNS, STOP BARS, CROSSWALKS, AND TRAFFIC WARNING SIGNS PER CONSTRUCTION PLANS), COMPLETE IN PLACE	LS	1	\$5,560.74	\$5,560.74	\$10,000.00	\$10,000.00	\$4,570.00	\$4,570.00
27	STOKESBURY ROAD TYPE III BARRICADES, COMPLETE IN PLACE	EA	2	\$1,668.23	\$3,336.46	\$2,000.00	\$4,000.00	\$1,430.00	\$2,860.00
28	STOKESBURY ROAD FINAL RESERVE GRADING, INCLUDING STRIPPING AND PROOF ROLLING, EXCAVATION, HAULING, PLACEMENT, AND COMPACTION OF MATERIALS AND PLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$3,815.69	\$3,815.69	\$18,111.00	\$18,111.00	\$3,045.00	\$3,045.00
29	STOKESBURY ROAD CONNECTION OF PROPOSED ASPHALT PAVEMENT TO EXISTING CASTLE ROAD, COMPLETE IN PLACE	EA	1	\$1,112.15	\$1,112.15	\$5,000.00	\$5,000.00	\$2,945.00	\$2,945.00
30	STOKESBURY ROAD 2" HOT MIX ASPHALTIC CONCRETE, COMPLETE IN PLACE	SY	304	\$33.36	\$10,141.44	\$100.00	\$30,400.00	\$56.85	\$17,282.40
31	STOKESBURY ROAD 10" BLACK BASE, COMPLETE IN PLACE	SY	304	\$100.09	\$30,427.36	\$125.00	\$38,000.00	\$167.50	\$50,920.00
32	STOKESBURY ROAD PAVING HEADER FOR FUTURE BALBLAIR DRIVE AND STOKESBURY ROAD PHASE 2, COMPLETE IN PLACE	LF	56	\$61.17	\$3,425.52	\$25.00	\$1,400.00	\$20.30	\$1,136.80
33	STOKESBURY ROAD TYPE 7 RAMPS PER CONSTRUCTION PLANS, COMPLETE IN PLACE	EA	4	\$795.19	\$3,180.76	\$2,500.00	\$10,000.00	\$1,370.00	\$5,480.00
34	STOKESBURY ROAD ADDITIONAL COST FOR MAINTAINING ACCESS TO WASTEWATER TREATMENT PLANT AND WATER PLANT SITES VIA EXISTING 20' GRAVEL ACCESS ROAD, TO INCLUDE REMOVAL AND REPLACEMENT OF GRAVEL ACCESS ROAD, AS NECESSARY FOR CONSTRUCTION, COMPLETE IN PLACE	LS	1	\$3,340.27	\$3,340.27	\$2,688.00	\$2,688.00	\$7,615.00	\$7,615.00
35	CASTLE ROAD LEFT TURN LANE 24" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	133	\$72.62	\$9,658.46	\$90.00	\$11,970.00	\$91.70	\$12,196.10
36	CASTLE ROAD LEFT TURN LANE 36" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	33	\$122.23	\$4,033.59	\$162.00	\$5,346.00	\$211.35	\$6,974.55
37	CASTLE ROAD LEFT TURN LANE STANDARD PRECAST INLET, TYPE "D-1", ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,479.96	\$2,479.96	\$2,497.00	\$2,497.00	\$4,625.00	\$4,625.00
38	CASTLE ROAD LEFT TURN LANE CONNECT PROPOSED 36" RCP CULVERT TO EXISTING 36" RCP CULVERT, TO INCLUDE CONCRETE COLLAR, COMPLETE IN PLACE	EA	3	\$323.17	\$969.51	\$806.00	\$2,418.00	\$1,290.00	\$3,870.00
39	CASTLE ROAD LEFT TURN LANE REGRADING OF EXISTING ROADSIDE DITCH, INCLUDING DEMUCKING EXISTING DITCH, COMPLETE IN PLACE	LF	625	\$1.44	\$900.00	\$10.90	\$6,812.50	\$25.40	\$15,875.00
40	CASTLE ROAD LEFT TURN LANE ROADWAY EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	465	\$2.17	\$1,009.05	\$35.00	\$16,275.00	\$43.65	\$20,297.25
41	CASTLE ROAD LEFT TURN LANE 2" HOT MIX ASHPHALTIC CONCRETE, COMPLETE IN PLACE	SY	1035	\$33.36	\$34,527.60	\$65.00	\$67,275.00	\$38.60	\$39,951.00
42	CASTLE ROAD LEFT TURN LANE 10" BLACK BASE, COMPLETE IN PLACE	SY	1035	\$100.09	\$103,593.15	\$125.00	\$129,375.00	\$116.75	\$120,836.25
43	CASTLE ROAD LEFT TURN LANE HOT MIX ASPHALTIC CONCRETE OVER EXISTING PAVEMENT (LEVEL UP), INCLUDING TACK COAT, COMPLETE IN PLACE	SY	1842	\$50.05	\$92,192.10	\$65.00	\$119,730.00	\$36.90	\$67,969.80
44	CASTLE ROAD LEFT TURN LANE 6" LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN PLACE	SY	1215	\$1.08	\$1,312.20	\$20.00	\$24,300.00	\$34.10	\$41,431.50

 Page 9 of 21
 FRN F-1386

 LJA Engineering, Inc.
 1.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

PLACE

AND MATERIALS BASIS AND IS SEPERATE FROM THIS CONTRACT, COMPLETE IN

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024 1680-8205 (9.2)

	005 110.			00 0200 (0.2)					
				1) DNT CONSTRU	JCTION, LLC	2) CLEARWATER U	TILITIES, INC.	3) TEXAS KB UT	ILITIES, LLC
ITEN	M DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
45	CASTLE ROAD LEFT TURN LANE FLY ASH FOR STABILIZED SUBGRADE (8% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	7.3	\$460.43	\$3,361.14	\$500.00	\$3,650.00	\$132.00	\$963.60
46	CASTLE ROAD LEFT TURN LANE INSTALL, MAINTAIN, AND REMOVE TEMPORARY TRAFFIC CONTROL DEVICES (FLAGGER, CONES, ETC.) AS NECESSARY DURING CONSTRUCTION, COMPLETE IN PLACE	LS	1	\$6,050.09	\$6,050.09	\$15,000.00	\$15,000.00	\$2,740.00	\$2,740.00
47	CASTLE ROAD LEFT TURN LANE PERMANENT TRAFFIC CONTROL DEVICES (INCLUDING ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, DIRECTIONAL ARROWS, STREET SIGNS, TRAFFIC SIGNS, STOP BARS, CROSSWALKS, AND TRAFFIC WARNING SIGNS PER CONSTRUCTION PLANS), COMPLETE IN PLACE	LS	1	\$13,345.79	\$13,345.79	\$25,000.00	\$25,000.00	\$15,430.00	\$15,430.00
48	CASTLE ROAD LEFT TURN LANE HYDROMULCH SEEDING OF PROPOSED DITCH, COMPLETE IN PLACE	AC	0.5	\$2,780.38	\$1,390.19	\$1,881.00	\$940.50	\$1,990.00	\$995.00
49	CASTLE ROAD LEFT TURN LANE 18" THICK RIP-RAP, COMPLETE IN PLACE	SY	57	\$103.14	\$5,878.98	\$97.00	\$5,529.00	\$86.00	\$4,902.00
50	STOKESBURY PHASE 1 6" PVC IRRIGATION SLEEVE, SCHEDULE 40, COMPLETE IN PLACE	LF	334	\$20.43	\$6,823.62	\$40.00	\$13,360.00	\$32.80	\$10,955.20
51	STOKESBURY PHASE 1 HYDROMULCH SEEDING OF RIGHT-OF-WAY INCLUDES WATERING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	5	\$2,780.37	\$13,901.85	\$1,881.00	\$9,405.00	\$1,990.00	\$9,950.00
52	STOKESBURY PHASE 1 EXTRA BURLAP BAG BARRIER ON INLET (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$166.82	\$166.82	\$161.00	\$161.00	\$40.00	\$40.00
53	S STOKESBURY PHASE 1 ADJUST STORM MANHOLE RIM ELEVATION (BY OTHERS), INCLUDING RING ADJUSTMENTS AS REQUIRED (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA		\$717.09	\$717.09	\$269.00	\$269.00	\$600.00	\$600.00
54	STOKESBURY PHASE 1 EXTRA REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING) (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$2.50	\$250.00	\$1.95	\$195.00	\$1.35	\$135.00
55	S STOKESBURY PHASE 1 STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TOEQ PERMIT, COMPLETE IN PLACE	LS	1	\$2,863.78	\$2,863.78	\$2,150.00	\$2,150.00	\$4,226.85	\$4,226.85
56	STOKESBURY PHASE 1 CONSTRUCTION STAKING BY THE CONTRACTOR, CONTRACTOR TO USE GBI PARTNERS FOR CONSTRUCTION STAKING, TO INCLUDE STAKING FOR THE PAVING SERVING STOKESBURY SECTION 1, STOKESBURY ROAD, AND CASTLE ROAD LEFT TURN LANE. ANY RESTAKING THAT IS REQUIRED REGARDLESS OF THE REASON WILL BE CHARGED ON A TIME	LS	1	\$12,400.00	\$12,400.00	\$12,400.00	\$12,400.00	\$12,400.00	\$12,400.00

Page 10 of 21 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024

				1) DNT CONSTR	UCTION, LLC	2) CLEARWATER U	TILITIES, INC.	3) TEXAS KB UT	ILITIES, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
GRADE BREAK TO USE GBI P	PHASE 1 AS-BUILT SURVEYS OF RESERVES, LOT CORNERS, KS WITHIN LOTS, AND PAVEMENT HIGHS AND LOWS, CONTRACTOR ARTNERS FOR AS-BUILT SURVEY, INCLUDES ELECTRONIC DATA I THE ENGINEER, COMPLETE IN PLACE	LS	1	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00
ALTERNATE 1 SUBT	OTAL:				\$1,650,227.39		\$2,037,193.00		\$1,757,000.00
BIDDING SUMMARY									
SUBTOTAL STOKES	BURY SECTION 1 WATER ITEMS				\$250,766.00		\$307,483.80		\$312,851.30
SUBTOTAL STOKES	BURY SECTION 1 SANITARY SEWER ITEMS				\$231,557.00		\$389,523.50		\$321,738.50
SUBTOTAL STOKES	BURY SECTION 1 STORM SEWER ITEMS				\$495,493.00		\$442,855.50		\$494,503.20
SUBTOTAL STOKES	BURY ROAD WATER ITEMS				\$303,224.00		\$290,790.20		\$289,695.10
SUBTOTAL STOKES	BURY ROAD SANITARY SEWER ITEMS				\$247,931.00		\$307,958.95		\$262,565.30
SUBTOTAL STOKES	BURY ROAD STORM SEWER ITEMS				\$239,221.25		\$229,217.60		\$225,589.95
SUBTOTAL STOKES	BURY DETENTION ITEMS				\$240,660.00		\$254,953.10		\$310,041.60
SUBTOTAL STOKES	BURY DRAINAGE STRUCTURES ITEMS				\$654,647.00		\$621,948.20		\$622,853.95
SUBTOTAL STOKES	BURY PHASE 1 WS&D MISCELLANEOUS ITEMS				\$135,712.00		\$86,631.10		\$102,161.10
TOTAL AMOUNT BA	SE BID				\$2,799,211.25		\$2,931,361.95		\$2,942,000.00
ALTERNATE 1									
TOTAL AMOUNT BAS	SE BID				\$2,799,211.25		\$2,931,361.95		\$2,942,000.00
SUBTOTAL ALTERNA	ATE 1				\$1,650,227.39		\$2,037,193.00		\$1,757,000.00
TOTAL AMOUNT INC	CLUDING ALTERNATE 1				\$4,449,438.64		\$4,968,554.95		\$4,699,000.00

1680-8205 (9.2)

Page 11 of 21 FRN F-1386 LIA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024 1680-8205 (9.2)

				()			
				4) R CONSTRUC	TION CIVIL, LLC	5) FELLERS AN	ID CLARK LP
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
STOKESBURY SECTION 1 WAT	TER ITEMS						
	WA C-900, DR 18, CLASS 235, TO INCLUDE BEDDING AND L FITTINGS AND VALVES, COMPLETE IN PLACE	LF	2382	\$44.00	\$104,808.00	\$50.05	\$119,219.10
INCLUDE BEDDING AND	VC WATER PIPE, AWWA, C-900, DR 18, ALL DEPTHS, TO BACKFILL, INCLUDES ALL FITTINGS, VALVES, AND ALL OR PIPE JOINTS, COMPLETE IN PLACE	LF	596	\$48.00	\$28,608.00	\$51.80	\$30,872.80
	ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE O FLUSHING VALVE, COMPLETE IN PLACE	EA	9	\$5,700.00	\$51,300.00	\$5,806.90	\$52,262.10
4 PLUG AND CLAMP (ALL S	SIZES), COMPLETE IN PLACE	EA	1	\$230.00	\$230.00	\$275.65	\$275.65
5 2" BLOW-OFF VALVE ANI	D BOX, COMPLETE IN PLACE	EA	1	\$1,200.00	\$1,200.00	\$609.85	\$609.85
	' SINGLE WATER SERVICE CONNECTION (PER DETAIL IN RAWINGS), INCLUDES ALL FITTINGS HARDWARE AND : IN PLACE	EA	67	\$1,500.00	\$100,500.00	\$908.55	\$60,872.85
	E" SINGLE WATER SERVICE CONNECTION (PER DETAIL IN RAWINGS), INCLUDES ALL FITTINGS HARDWARE AND : IN PLACE	EA	45	\$700.00	\$31,500.00	\$584.15	\$26,286.75
8 TRENCH SAFETY SYSTE	M, ALL DEPTHS, COMPLETE IN PLACE	LF	2978	\$0.10	\$297.80	\$0.10	\$297.80
STOKESBURY SECTION 1 WAT	FER ITEMS SUBTOTAL:			OX	\$318,443.80		\$290,696.90
STOKESBURY SECTION 1 SAN	IITARY SEWER ITEMS						
SDR 26 (ALL DEPTHS), IN	OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, NCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, TACK, DROP STRUCTURES, AND ANY NECESSARY ETE IN PLACE	EA	37	\$1,550.00	\$57,350.00	\$1,134.95	\$41,993.15
26 (ALL DEPTHS), INCLU	SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR DING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, DROP STRUCTURE, AND ANY NECESSARY FITTINGS, CE	EA	22	\$3,150.00	\$69,300.00	\$2,996.90	\$65,931.80
3 8" PVC SEWER PIPE, AS' BEDDING AND BACKFILL	TM D-3034, SDR 26, 0 - 8 FOOT CUT, TO INCLUDE COMPLETE IN PLACE	LF	902	\$38.00	\$34,276.00	\$46.85	\$42,258.70
4 8" PVC SEWER PIPE, AS' BEDDING AND BACKFILL	TM D-3034, SDR 26, 8 - 12 FOOT CUT, TO INCLUDE ., COMPLETE IN PLACE	LF	2242	\$40.00	\$89,680.00	\$46.85	\$105,037.70
5 STANDARD SANITARY S	EWER MANHOLE (0' – 8' DEPTH), COMPLETE IN PLACE	EA	16	\$3,250.00	\$52,000.00	\$2,791.70	\$44,667.20
6 EXTRA DEPTH ON SANIT PLACE	TARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN	VF	32	\$200.00	\$6,400.00	\$140.25	\$4,488.00
DEPTHS, INCLUDES UPO C900 DR 18 PIPE FOR BO	WATER AND SANITARY SEWER CROSSINGS, ALL GRADE TO 18' SECTION FOR RESTRAINED JOINT AWWA DTH WATER AND SANITARY SEWER LINES WHERE RAINED JOINT FITTINGS, COMPLETE IN PLACE	EA	3	\$1,200.00	\$3,600.00	\$213.45	\$640.35
8 SANITARY SEWER 6" DR	OP CONNECTION, ALL DEPTHS, COMPLETE IN PLACE	EA	16	\$320.00	\$5,120.00	\$492.75	\$7,884.00
9 TRENCH SAFETY SYSTE	M, ALL DEPTHS, COMPLETE IN PLACE	LF	4895	\$0.10	\$489.50	\$0.10	\$489.50
STOKESBURY SECTION 1 SAN	IITARY SEWER ITEMS SUBTOTAL:				\$318,215.50		\$313,390.40

Page 12 of 21 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1
HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024 1680-8205 (9.2)

-5.1002.100			4) R CONSTRUCTI	ION CIVIL II C	5) FELLERS ANI	O CLARK LD
TEM DECORIDATION	LINUT	OTV	,		•	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
STOKESBURY SECTION 1 STORM SEWER ITEMS 1 24" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	EA	2552	\$85.00	\$216,920.00	\$101.80	\$259,793.60
2 36" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	332	\$157.00	\$52,124.00	\$162.60	\$53,983.20
3 42" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	58	\$227.00	\$13,166.00	\$209.50	\$12,151.00
4 48" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	154	\$260.00	\$40,040.00	\$246.70	\$37,991.80
5 STAGE I – STANDARD 5' REINFORCED CONCRETE PRECAST INLET ("C") ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, COMPLET IN PLACE	EA E	28	\$1,300.00	\$36,400.00	\$1,140.40	\$31,931.20
6 TYPE "C" PRECAST OR CAST-IN-PLACE MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	18	\$2,850.00	\$51,300.00	\$2,353.45	\$42,362.10
7 STAGE II – STANDARD 5' REINFORCED CONCRETE PRECAST OR REINFORCED CONCRETE CAST-IN-PLACE (4,000 PSI) INLET ("C"), COMPLETE IN PLACE	EA	28	\$2,450.00	\$68,600.00	\$2,536.95	\$71,034.60
8 TYPE "C" PRECAST OR CAST-IN-PLACE MANHOLE FOR 72" STORM SEWERS AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$5,050.00	\$5,050.00	\$7,135.15	\$7,135.15
9 TYPE "C" PRECAST OR CAST-IN-PLACE MANHOLE WITH "E" INLET TOP FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$4,950.00	\$4,950.00	\$4,146.90	\$4,146.90
10 REINFORCED CONCRETE TYPE "A" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,700.00	\$5,400.00	\$6,708.25	\$13,416.50
11 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	3115	\$0.10	\$311.50	\$0.10	\$311.50
STOKESBURY SECTION 1 STORM SEWER ITEMS SUBTOTAL:				\$494,261.50		\$534,257.55
STOKESBURY ROAD WATER ITEMS						
1 12" PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235, TO INCLUDE BEDDING AND BACKFILL, INCLUDES ALL FITTINGS AND VALVES, COMPLETE IN PLACE	LF	3118	\$70.00	\$218,260.00	\$82.70	\$257,858.60
2 12" RESTRAINED JOINT PVC WATER PIPE, AWWA, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING AND BACKFILL, INCLUDES ALL FITTINGS, VALVES, AND ALL RESTRAINED JOINTS FOR PIPE JOINTS, COMPLETE IN PLACE	LF	106	\$197.00	\$20,882.00	\$95.15	\$10,085.90
3 8" PVC WATER PIPE, AWWA, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING AND BACKFILL, INCLUDES ALL FITTINGS, VALVES, AND ALL RESTRAINED JOINTS FOR PIPE JOINTS, COMPLETE IN PLACE	LF	104	\$75.00	\$7,800.00	\$50.05	\$5,205.20
4 8" RESTRAINED JOINT PVC WATER PIPE, AWWA, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING AND BACKFILL, INCLUDES ALL FITTINGS, VALVES, AND ALL RESTRAINED JOINTS FOR PIPE JOINTS, COMPLETE IN PLACE	LF	24	\$115.00	\$2,760.00	\$51.80	\$1,243.20
5 FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	7	\$5,750.00	\$40,250.00	\$5,806.90	\$40,648.30
6 PLUG AND CLAMP (ALL SIZES), COMPLETE IN PLACE	EA	3	\$450.00	\$1,350.00	\$317.10	\$951.30
7 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	3352	\$0.10	\$335.20	\$0.10	\$335.20
8 2" BLOW-OFF VALVE AND BOX, COMPLETE IN PLACE	EA	3	\$1,200.00	\$3,600.00	\$609.85	\$1,829.55
STOKESBURY ROAD WATER ITEMS SUBTOTAL:				\$295,237.20		\$318,157.25

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024 1680-8205 (9.2)

	2.10.						
				4) R CONSTRUCT	ION CIVIL, LLC	5) FELLERS ANI	D CLARK LP
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
STOKES	SBURY ROAD SANITARY SEWER ITEMS						
	' PVC SEWER PIPE, ASTM D-3034, SDR 26, 12 - 16 FOOT CUT, TO INCLUDE EDDING AND BACKFILL, COMPLETE IN PLACE	LF	1518	\$50.00	\$75,900.00	\$46.85	\$71,118.30
	PVC SEWER PIPE, ASTM D-3034, SDR 26, 16 - 12 FOOT CUT, TO INCLUDE EDDING AND BACKFILL, COMPLETE IN PLACE	LF	1694	\$54.00	\$91,476.00	\$46.85	\$79,363.90
	2" PVC SEWER PIPE, ASTM D-3034, SDR 26, 20-24 FOOT CUT, TO INCLUDE EDDING AND BACKFILL, COMPLETE IN PLACE	LF	130	\$110.00	\$14,300.00	\$75.20	\$9,776.00
4 S	TANDARD SANITARY SEWER MANHOLE (0' – 8' DEPTH), COMPLETE IN PLACE	EA	20	\$3,150.00	\$63,000.00	\$2,791.70	\$55,834.00
	XTRA DEPTH ON SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN LACE	VF	194	\$200.00	\$38,800.00	\$140.25	\$27,208.50
D	DDITIONAL COST FOR WATER AND SANITARY SEWER CROSSINGS, ALL EPTHS, INCLUDES UPGRADE TO 18' SECTION FOR RESTRAINED JOINT AWWA 900 DR 18 PIPE FOR BOTH WATER AND SANITARY SEWER LINES WHERE PPLICABLE AND RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	EA	1	\$1,200.00	\$1,200.00	\$213.45	\$213.45
7 T	RENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	5093	\$0.10	\$509.30	\$0.10	\$509.30
STOKES	SBURY ROAD SANITARY SEWER ITEMS SUBTOTAL:				\$285,185.30		\$244,023.45
STOKES	SBURY ROAD STORM SEWER ITEMS						
	4" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND ACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	412	\$84.00	\$34,608.00	\$112.90	\$46,514.80
	8" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND ACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	39	\$257.00	\$10,023.00	\$249.70	\$9,738.30
	4" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND ACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	43	\$395.00	\$16,985.00	\$360.10	\$15,484.30
	0" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND ACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	289	\$445.00	\$128,605.00	\$410.75	\$118,706.75
	YPE "C" PRECAST OR CAST-IN-PLACE MANHOLE FOR 42" STORM SEWERS AND MALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$2,600.00	\$10,400.00	\$2,353.45	\$9,413.80
	YPE "C" PRECAST OR CAST-IN-PLACE MANHOLE FOR 48" STORM SEWERS AND ARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$10,600.00	\$42,400.00	\$7,135.15	\$28,540.60
D	TAGE I – STANDARD 5' REINFORCED CONCRETE PRECAST INLET ("C") ALL EPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE I PLACE	EA	4	\$1,350.00	\$5,400.00	\$1,140.40	\$4,561.60
	TAGE II – STANDARD 5' REINFORCED CONCRETE PRECAST OR REINFORCED ONCRETE CAST-IN-PLACE (4,000 PSI) INLET ("C"), COMPLETE IN PLACE	EA	4	\$2,450.00	\$9,800.00	\$2,536.95	\$10,147.80
	ROPOSED DRAINAGE SWALE, 3:1 SS, V-BOTTOM, GRADE TO DRAIN, INCLUDING YDROMULCH AND WATERING, COMPLETE IN PLACE	LF	65	\$5.00	\$325.00	\$36.60	\$2,379.00
	:1 SAFETY END TREATMENT FOR 24" STORM SEWER, INCLUDES SLOPE PAVING, OMPLETE IN PLACE	EA	2	\$1,600.00	\$3,200.00	\$1,786.85	\$3,573.70
11 T	RENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	916	\$0.10	\$91.60	\$0.10	\$91.60
STOKES	SBURY ROAD STORM SEWER ITEMS SUBTOTAL:				\$261,837.60		\$249,152.25

Page 14 of 21 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024 1680-8205 (9.2)

				()			
				4) R CONSTRUCT	ION CIVIL, LLC	5) FELLERS AND	O CLARK LP
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
STOK	ESBURY DETENTION ITEMS						
	BACKSLOPE SWALE, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT, AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH 8" LIFTS AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	9874	\$3.50	\$34,559.00	\$3.65	\$36,040.10
2	BACKSLOPE INTERCEPTOR STRUCTURE, INCLUDES 24" CMP OUTFALL PIPE (ASPHALT COATED), 4" THICK CONCRETE SLOPE PAVING, COMPLETE IN PLACE	EA	22	\$12,000.00	\$264,000.00	\$19,096.00	\$420,112.00
3	5" REINFORCED CONCRETE EXTREME EVENT OVERFLOW STRUCTURE, 10' BOTTOM, 5:1 SS MAX, INCLUDING TOE WALL, COMPLETE IN PLACE	SY	123	\$115.00	\$14,145.00	\$207.35	\$25,504.05
ѕток	ESBURY DETENTION ITEMS SUBTOTAL:				\$312,704.00		\$481,656.15
STOK	ESBURY DRAINAGE STRUCTURES ITEMS						
1	24° RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	86	\$90.00	\$7,740.00	\$110.30	\$9,485.80
2	30" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	48	\$115.00	\$5,520.00	\$123.85	\$5,944.80
3	54" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	368	\$360.00	\$132,480.00	\$357.50	\$131,560.00
4	60" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	270	\$425.00	\$114,750.00	\$408.15	\$110,200.50
5	60" HDPE STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	295	\$225.00	\$66,375.00	\$203.15	\$59,929.25
6	7'X6' RCB STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	132	\$920.00	\$121,440.00	\$901.95	\$119,057.40
7	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	3262	\$0.10	\$326.20	\$0.10	\$326.20
8	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, INCLUDES ADJUSTMENTS. ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$12,700.00	\$12,700.00	\$10,641.75	\$10,641.75
9	REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH E-INLET TOP, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$21,700.00	\$21,700.00	\$25,308.40	\$25,308.40
10	REINFORCED CONCRETE STORM SEWER JUNCTION BOX, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$20,200.00	\$20,200.00	\$19,210.00	\$19,210.00
11	BORE AND JACK FOR 60° RCP (EXCLUDES LINE PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	EA	75	\$1,750.00	\$131,250.00	\$1,311.15	\$98,336.25
12	4" REINFORCED CONCRETE SLOPE PAVEMENT WITH TOE WALLS ALL AROUND, COMPLETE IN PLACE	SY	356	\$100.00	\$35,600.00	\$134.15	\$47,757.40
13	18" THICK RIP-RAP, COMPLETE IN PLACE	SY	110	\$130.00	\$14,300.00	\$109.75	\$12,072.50
14	STANDARD HARRIS COUNTY FLOATABLE COLLECTION SCREEN FOR A 24" RCP STORM SEWER, COMPLETE IN PLACE	EA	1	\$28,000.00	\$28,000.00	\$9,452.55	\$9,452.55
15	STANDARD HARRIS COUNTY FLOATABLE COLLECTION SCREEN FOR A 30" RCP STORM SEWER, COMPLETE IN PLACE	EA	1	\$30,000.00	\$30,000.00	\$10,672.20	\$10,672.20
16	REGRADE AND REPAIR SIDE SLOPES TO EXISTING OR BETTER CONDITIONS WITHIN FUTURE HARRIS COUNTY SPRING CREEK R.O.W., COMPLETE IN PLACE	LS	1	\$4,800.00	\$4,800.00	\$6,708.25	\$6,708.25

Page 15 of 21 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024 1680-8205 (9.2)

			•	()			
				4) R CONSTRUCT	TON CIVIL, LLC	5) FELLERS AN	ID CLARK LP
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
17	RETURN DISTURBED SIDE SLOPES TO EXISTING OR BETTER CONDITIONS WITHIN EXISTING STOKESBURY PONDS, COMPLETE IN PLACE	LS	1	\$4,800.00	\$4,800.00	\$12,196.80	\$12,196.80
18	REGRADING OF EXISTING ROADSIDE DITCH, INCLUDING DEMUCKING EXISTING DITCH, COMPLETE IN PLACE	LF	580	\$6.00	\$3,480.00	\$48.80	\$28,304.00
19	18" THICK RIP-RAP, TO BE USED IN ROADSIDE DITCH ALONG CASTLE ROAD, COMPLETE IN PLACE	SY	170	\$130.00	\$22,100.00	\$109.75	\$18,657.50
20	UTILITY SPOILS, INCLUDE HAULING EXCAVATED MATERIAL ONSITE, INCLUDING STRIPPING, STOCKPILE STRIPPINGS, PLACEMENT, AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADINGS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$3,750.00	\$3,750.00	\$25,617.20	\$25,617.20
21	DEWATERING FOR STORM SEWER (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1000	\$20.00	\$20,000.00	\$20.00	\$20,000.00
STO	KESBURY DRAINAGE STRUCTURES ITEMS SUBTOTAL:				\$801,311.20		\$781,438.75
STO	KESBURY PHASE 1 WS&D MISCELLANEOUS ITEMS						
1	EXTRA REINFORCED FILTER FABRIC FENCE (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$2.00	\$200.00	\$1.50	\$150.00
2	EXTRA FILTER FABRIC FENCE (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$2.00	\$200.00	\$1.50	\$150.00
3	EXTRA BURLAP BAG BARRIER ON INLET (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$50.00	\$50.00	\$12.20	\$12.20
4	EXTRA SILT FENCE INLET PROTECTION BARRIER, COMPLETE IN PLACE	EA	1	\$50.00	\$50.00	\$12.20	\$12.20
5	EXTRA HYDRO-MULCH SEEDING, COMPLETE IN PLACE	AC	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
6	EXTRA WATER LINE FITTINGS, COMPLETE IN PLACE	TON	0.1	\$12,300.00	\$1,230.00	\$1,000.00	\$100.00
7	EXTRA CEMENT STABILIZED SAND BACKFILL (2.5 SACKS PER TON) (TO BE USED ONLY AT THE WRITING DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	CY	10	\$50.00	\$500.00	\$50.00	\$500.00
8	EXTRA COST OF SANITARY SEWER WET SAND CONSTRUCTION, ALL LINE SIZES AND DEPTHS (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	500	\$15.00	\$7,500.00	\$5.00	\$2,500.00
9	EXTRA COST OF STORM SEWER WET SAND CONSTRUCTION, ALL LINE SIZES AND DEPTHS (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$15.00	\$1,500.00	\$1.00	\$100.00
10	EXTRA COST OF WET SAND CONSTRUCTION UNDER MANHOLE, ALL DEPTHS (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$500.00	\$500.00
11	DEWATERING FOR UTILITY LINES, ALL LINES SIZES AND DEPTHS (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	500	\$20.00	\$10,000.00	\$20.00	\$10,000.00
12	EXTRA BROADCAST SEEDING (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$650.00	\$650.00	\$700.00	\$700.00
13	ADJUST EXISTING MANHOLE RIM ELEVATION AS REQUIRED (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$100.00	\$100.00	\$550.00	\$550.00
14	EXTRA 8" AWWA GATE VALVE AND BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00
15	STABILIZED CONSTRUCTION EXIT, INCLUDING INSTALLATION, MAINTENANCE AND REMOVAL, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,524.60	\$1,524.60

Page 16 of 21 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024
LJA ENGINEERING, INC.
A. OTTO
MAY 28, 2024
1680-8205 (9.2)

			-	(,			
				4) R CONSTRUC	TION CIVIL, LLC	5) FELLERS AN	ID CLARK LP
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
16	UTILITY SPOILS, FROM STOKESBURY SECTION 1, TO BE USED ON-SITE WITHIN STOKESBURY SECTION 1, STRIPPING, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, AND REAPPLICATION OF STRIPPINGS IN ACCORDANCE WITH THE CONSTRUCTION PLANS, COMPLETE IN PLACE	LS	1	\$6,000.00	\$6,000.00	\$25,617.20	\$25,617.20
17	UTILITY SPOILS, FROM STOKESBURY ROAD, TO BE USED ON-SITE WITHIN STOKESBURY ROAD, STRIPPING, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, AND REAPPLICATION OF STRIPPINGS IN ACCORDANCE WITH THE CONSTRUCTION PLANS, COMPLETE IN PLACE	LS	1	\$4,000.00	\$4,000.00	\$25,617.20	\$25,617.20
18	ADJUST EXISTING GATE VALVE TO FINISHED GRADE AS REQUIRED (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$100.00	\$100.00	\$150.00	\$150.00
19	STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$1,200.00	\$1,200.00	\$2,134.45	\$2,134.45
20	CONSTRUCTION STAKING BY THE CONTRACTOR, CONTRACTOR TO USE GBI PARTNERS FOR CONSTRUCTION STAKING, TO INCLUDE STAKING FOR THE WS&D SERVING STOKESBURY SECTION 1, STOKESBURY ROAD, AND STOKESBURY DETENTION AND DRAINAGE STRUCTURE AREAS. ANY RESTAKING THAT IS REQUIRED REGARDLESS OF THE REASON WILL BE CHARGED ON A TIME AND MATERIALS BASIS AND IS SEPERATE FROM THIS CONTRACT, COMPLETE IN PLACE	LS	1	\$42,600.00	\$42,600.00	\$42,600.00	\$42,600.00
21	WOOD MATS AT LOCATIONS WHERE CONTRACTOR CROSSES EXISTING PIPELINES (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), AS REQUIRED BY EXISTING PIPELINE ENTITY, INCLUDING REMOVAL AND REDRESSING OF AREA UPON COMPLETION, COMPLETE IN PLACE	LS	1	\$22,000.00	\$22,000.00	\$6,345.70	\$6,345.70
22	AIR BRIDGE AT LOCATIONS WHERE CONTRACTOR CROSSES EXISTING PIPELINES (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), AS REQUIRED BY EXISTING PIPELINE ENTITY, INCLUDING REMOVAL AND REDRESSING OF AREA UPON COMPLETION, COMPLETE IN PLACE	LS	1	\$14,000.00	\$14,000.00	\$12,196.80	\$12,196.80
23	REMOVAL AND OFFSITE DISPOSAL OF EXIST GRAVEL DRIVE CONNECTED TO CASTLE ROAD (APPROX. 27 SY), INCLUDING 25 LF OF 18° RCP, COMPLETE IN PLACE	LS	1	\$4,200.00	\$4,200.00	\$7,766.95	\$7,766.95
STOK	ESBURY PHASE 1 WS&D MISCELLANEOUS ITEMS SUBTOTAL:				\$121,380.00		\$142,727.30
ALTE	RNATE 1						
1	STOKESBURY SECTION 1 ROADWAY AND LOT EXCAVATION INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	4052	\$2.25	\$9,117.00	\$3.15	\$12,763.80
2	STOKESBURY SECTION 1 ROADWAY AND LOT EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	4052	\$2.25	\$9,117.00	\$3.15	\$12,763.80
3	STOKESBURY SECTION 1 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	10602	\$54.00	\$572,508.00	\$51.45	\$545,472.90
4	STOKESBURY SECTION 1 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2015	\$4.00	\$8,060.00	\$3.95	\$7,959.25
5	STOKESBURY SECTION 1 4"X12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4189	\$4.00	\$16,756.00	\$3.95	\$16,546.55
6	STOKESBURY SECTION 1 6" LIME-FLY ASH STABILIZED SUB-GRADE (MANIPULATION), COMPLETE IN PLACE	SY	12157	\$4.00	\$48,628.00	\$3.70	\$44,980.90

Page 17 of 21 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024
LJA ENGINEERING, INC.
A. OTTO
MAY 28, 2024
1680-8205 (9.2)

				(,			
				4) R CONSTRUCT	ION CIVIL, LLC	5) FELLERS AND	CLARK LP
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
7	STOKESBURY SECTION 1 2% HYDRATED LIME FOR STABILIZED SUB-GRADE (9 LBS./SY BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	55	\$330.00	\$18,150.00	\$420.00	\$23,100.00
8	STOKESBURY SECTION 1 8% FLY ASH FOR STABILIZED SUB-GRADE (36 LBS./SY BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	219	\$145.00	\$31,755.00	\$136.50	\$29,893.50
9	STOKESBURY SECTION 1 DOUBLE REFLECTORIZED BLUE FIRE HYDRANT BUTTONS, COMPLETE IN PLACE	LF	11	\$15.00	\$165.00	\$21.00	\$231.00
10	STOKESBURY SECTION 1 PERMANENT TRAFFIC CONTROL DEVICES (INCLUDING ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, DIRECTIONAL ARROWS, STREET SIGNS, TRAFFIC SIGNS, STOP BARS, CROSSWALKS, AND TRAFFIC WARNING SIGNS PER CONSTRUCTION PLANS), COMPLETE IN PLACE	LS	1	\$13,500.00	\$13,500.00	\$10,500.00	\$10,500.00
11	STOKESBURY SECTION 1 TYPE III BARRICADES, COMPLETE IN PLACE	EA	1	\$1,175.00	\$1,175.00	\$1,575.00	\$1,575.00
12	STOKESBURY SECTION 1 FINAL LOT GRADING, COMPLETE IN PLACE	LS	1	\$21,700.00	\$21,700.00	\$65,100.00	\$65,100.00
13	STOKESBURY SECTION 1 CONNECTION OF PROPOSED ASPHALT PAVEMENT TO EXISTING CASTLE ROAD, COMPLETE IN PLACE	EA	1	\$1,800.00	\$1,800.00	\$5,250.00	\$5,250.00
14	STOKESBURY SECTION 1 2" HOT MIX ASPHALTIC CONCRETE, COMPLETE IN PLACE	SY	156	\$22.00	\$3,432.00	\$44.10	\$6,879.60
15	STOKESBURY SECTION 1 10" BLACK BASE, COMPLETE IN PLACE	SY	156	\$85.00	\$13,260.00	\$96.60	\$15,069.60
16	STOKESBURY SECTION 1 PAVING HEADER FOR FUTURE DEANSTON DRIVE, COMPLETE IN PLACE	LF	28	\$30.00	\$840.00	\$12.60	\$352.80
17	STOKESBURY SECTION 1 TYPE 7 RAMPS PER CONSTRUCTION PLANS, COMPLETE IN PLACE	EA	10	\$1,900.00	\$19,000.00	\$1,680.00	\$16,800.00
18	STOKESBURY ROAD ROADWAY AND LOT EXCAVATION INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	2172	\$2.50	\$5,430.00	\$3.15	\$6,841.80
19	STOKESBURY ROAD ROADWAY AND LOT EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	2172	\$2.50	\$5,430.00	\$3.15	\$6,841.80
20	STOKESBURY ROAD 7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	5466	\$65.00	\$355,290.00	\$57.75	\$315,661.50
21	STOKESBURY ROAD 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3265	\$4.00	\$13,060.00	\$3.95	\$12,896.75
22	STOKESBURY ROAD 8" LIME-FLY ASH STABILIZED SUB-GRADE (MANIPULATION), COMPLETE IN PLACE	SY	6516	\$5.00	\$32,580.00	\$3.70	\$24,109.20
23	STOKESBURY ROAD 2% HYDRATED LIME FOR STABILIZED SUB-GRADE (12 LBS./SY BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	39	\$330.00	\$12,870.00	\$420.00	\$16,380.00
24	STOKESBURY ROAD 8% FLY ASH FOR STABILIZED SUB-GRADE (48 LBS./SY BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	156	\$145.00	\$22,620.00	\$136.50	\$21,294.00
25	STOKESBURY ROAD DOUBLE REFLECTORIZED BLUE FIRE HYDRANT BUTTONS, COMPLETE IN PLACE	EA	3	\$15.00	\$45.00	\$21.00	\$63.00

Page 18 of 21 FRN F-1366 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024
LJA ENGINEERING, INC.
A. OTTO
MAY 28, 2024
1680-8205 (9.2)

	, o z . i o .			()			
				4) R CONSTRUCT	ION CIVIL, LLC	5) FELLERS AN	D CLARK LP
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
26	STOKESBURY ROAD PERMANENT TRAFFIC CONTROL DEVICES (INCLUDING ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, DIRECTIONAL ARROWS, STREET SIGNS, TRAFFIC SIGNS, STOP BARS, CROSSWALKS, AND TRAFFIC WARNING SIGNS PER CONSTRUCTION PLANS), COMPLETE IN PLACE	LS	1	\$10,200.00	\$10,200.00	\$8,400.00	\$8,400.00
27	STOKESBURY ROAD TYPE III BARRICADES, COMPLETE IN PLACE	EA	2	\$1,175.00	\$2,350.00	\$1,575.00	\$3,150.00
28	STOKESBURY ROAD FINAL RESERVE GRADING, INCLUDING STRIPPING AND PROOF ROLLING, EXCAVATION, HAULING, PLACEMENT, AND COMPACTION OF MATERIALS AND PLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$650.00	\$650.00	\$6,300.00	\$6,300.00
29	STOKESBURY ROAD CONNECTION OF PROPOSED ASPHALT PAVEMENT TO EXISTING CASTLE ROAD, COMPLETE IN PLACE	EA	1	\$1,800.00	\$1,800.00	\$5,250.00	\$5,250.00
30	STOKESBURY ROAD 2" HOT MIX ASPHALTIC CONCRETE, COMPLETE IN PLACE	SY	304	\$22.00	\$6,688.00	\$44.10	\$13,406.40
31	STOKESBURY ROAD 10" BLACK BASE, COMPLETE IN PLACE	SY	304	\$85.00	\$25,840.00	\$96.60	\$29,366.40
32	STOKESBURY ROAD PAVING HEADER FOR FUTURE BALBLAIR DRIVE AND STOKESBURY ROAD PHASE 2, COMPLETE IN PLACE	LF	56	\$30.00	\$1,680.00	\$12.60	\$705.60
33	STOKESBURY ROAD TYPE 7 RAMPS PER CONSTRUCTION PLANS, COMPLETE IN PLACE	EA	4	\$1,900.00	\$7,600.00	\$1,680.00	\$6,720.00
34	STOKESBURY ROAD ADDITIONAL COST FOR MAINTAINING ACCESS TO WASTEWATER TREATMENT PLANT AND WATER PLANT SITES VIA EXISTING 20' GRAVEL ACCESS ROAD, TO INCLUDE REMOVAL AND REPLACEMENT OF GRAVEL ACCESS ROAD, AS NECESSARY FOR CONSTRUCTION, COMPLETE IN PLACE	LS	1	\$18,000.00	\$18,000.00	\$6,098.40	\$6,098.40
35	CASTLE ROAD LEFT TURN LANE 24" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	133	\$90.00	\$11,970.00	\$93.65	\$12,455.45
36	CASTLE ROAD LEFT TURN LANE 36° RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	33	\$180.00	\$5,940.00	\$155.05	\$5,116.65
37	CASTLE ROAD LEFT TURN LANE STANDARD PRECAST INLET, TYPE "D-1", ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$2,957.75	\$2,957.75
38	CASTLE ROAD LEFT TURN LANE CONNECT PROPOSED 36" RCP CULVERT TO EXISTING 36" RCP CULVERT, TO INCLUDE CONCRETE COLLAR, COMPLETE IN PLACE	EA	3	\$625.00	\$1,875.00	\$1,036.75	\$3,110.25
39	CASTLE ROAD LEFT TURN LANE REGRADING OF EXISTING ROADSIDE DITCH, INCLUDING DEMUCKING EXISTING DITCH, COMPLETE IN PLACE	LF	625	\$5.50	\$3,437.50	\$42.00	\$26,250.00
40	CASTLE ROAD LEFT TURN LANE ROADWAY EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	465	\$7.50	\$3,487.50	\$31.50	\$14,647.50
41	CASTLE ROAD LEFT TURN LANE 2" HOT MIX ASHPHALTIC CONCRETE, COMPLETE IN PLACE	SY	1035	\$22.00	\$22,770.00	\$44.10	\$45,643.50
42	CASTLE ROAD LEFT TURN LANE 10" BLACK BASE, COMPLETE IN PLACE	SY	1035	\$85.00	\$87,975.00	\$96.60	\$99,981.00
43	CASTLE ROAD LEFT TURN LANE HOT MIX ASPHALTIC CONCRETE OVER EXISTING PAVEMENT (LEVEL UP), INCLUDING TACK COAT, COMPLETE IN PLACE	SY	1842	\$22.00	\$40,524.00	\$44.10	\$81,232.20
44	CASTLE ROAD LEFT TURN LANE 6" LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN PLACE	SY	1215	\$5.00	\$6,075.00	\$10.50	\$12,757.50

Page 19 of 21 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024
LJA ENGINEERING, INC.
A. OTTO
MAY 28, 2024
1680-8205 (9.2)

				, ,			
				4) R CONSTRUCTI	ON CIVIL, LLC	5) FELLERS AND	CLARK LP
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
45	CASTLE ROAD LEFT TURN LANE FLY ASH FOR STABILIZED SUBGRADE (8% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	7.3	\$145.00	\$1,058.50	\$136.50	\$996.45
46	CASTLE ROAD LEFT TURN LANE INSTALL, MAINTAIN, AND REMOVE TEMPORARY TRAFFIC CONTROL DEVICES (FLAGGER, CONES, ETC.) AS NECESSARY DURING CONSTRUCTION, COMPLETE IN PLACE	LS	1	\$10,700.00	\$10,700.00	\$26,250.00	\$26,250.00
47	CASTLE ROAD LEFT TURN LANE PERMANENT TRAFFIC CONTROL DEVICES (INCLUDING ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, DIRECTIONAL ARROWS, STREET SIGNS, TRAFFIC SIGNS, STOP BARS, CROSSWALKS, AND TRAFFIC WARNING SIGNS PER CONSTRUCTION PLANS), COMPLETE IN PLACE	LS	1	\$10,600.00	\$10,600.00	\$15,750.00	\$15,750.00
48	CASTLE ROAD LEFT TURN LANE HYDROMULCH SEEDING OF PROPOSED DITCH, COMPLETE IN PLACE	AC	0.5	\$1,500.00	\$750.00	\$4,268.90	\$2,134.45
49	CASTLE ROAD LEFT TURN LANE 18" THICK RIP-RAP, COMPLETE IN PLACE	SY	57	\$130.00	\$7,410.00	\$109.75	\$6,255.75
50	STOKESBURY PHASE 1 6" PVC IRRIGATION SLEEVE, SCHEDULE 40, COMPLETE IN PLACE	LF	334	\$50.00	\$16,700.00	\$42.00	\$14,028.00
51	STOKESBURY PHASE 1 HYDROMULCH SEEDING OF RIGHT-OF-WAY INCLUDES WATERING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	5	\$1,500.00	\$7,500.00	\$1,707.55	\$8,537.75
52	STOKESBURY PHASE 1 EXTRA BURLAP BAG BARRIER ON INLET (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$50.00	\$50.00	\$105.00	\$105.00
53	STOKESBURY PHASE 1 ADJUST STORM MANHOLE RIM ELEVATION (BY OTHERS), INCLUDING RING ADJUSTMENTS AS REQUIRED (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA		\$100.00	\$100.00	\$500.00	\$500.00
54	STOKESBURY PHASE 1 EXTRA REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING) (TO BE USED ONLY AS DIRECTED BY THE ENGINEER); COMPLETE IN PLACE	LF	100	\$2.00	\$200.00	\$1.50	\$150.00
55	STOKESBURY PHASE 1 STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TOEQ PERMIT, COMPLETE IN PLACE	LS	1	\$1,200.00	\$1,200.00	\$2,017.25	\$2,017.25
56	STOKESBURY PHASE 1 CONSTRUCTION STAKING BY THE CONTRACTOR, CONTRACTOR TO USE GBI PARTNERS FOR CONSTRUCTION STAKING, TO INCLUDE STAKING FOR THE PAVING SERVING STOKESBURY SECTION 1, STOKESBURY ROAD, AND CASTLE ROAD LEFT TURN LANE. ANY RESTAKING THAT IS REQUIRED REGARDLESS OF THE REASON WILL BE CHARGED ON A TIME AND MATERIALS BASIS AND IS SEPERATE FROM THIS CONTRACT, COMPLETE IN PLACE	LS	1	\$12,400.00	\$12,400.00	\$12,400.00	\$12,400.00

 Page 20 of 21
 FRN F-1386

 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

PROVIDED TO THE ENGINEER, COMPLETE IN PLACE

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE, PAVING AND DETENTION TO SERVE STOKESBURY PHASE 1 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 10 HARRIS COUNTY, TEXAS MAY 23, 2024 LJA ENGINEERING, INC. A. OTTO MAY 28, 2024

4) R CONSTRUCTION CIVIL, LLC 5) FELLERS AND CLARK LP UNIT COST UNIT COST ITEM DESCRIPTION UNIT QTY TOTAL COST TOTAL COST 57 STOKESBURY PHASE 1 AS-BUILT SURVEYS OF RESERVES, LOT CORNERS. LS \$12,000.00 \$12,000.00 \$12,000.00 \$12,000.00 GRADE BREAKS WITHIN LOTS, AND PAVEMENT HIGHS AND LOWS, CONTRACTOR TO USE GBI PARTNERS FOR AS-BUILT SURVEY, INCLUDES ELECTRONIC DATA

1680-8205 (9.2)

ALTERNATE 1 SUBTOTAL:	\$1.577.318.50	\$1,704,000.00
	\$1,577,510.00	Ψ1,70-3,000.00
BIDDING SUMMARY		
SUBTOTAL STOKESBURY SECTION 1 WATER ITEMS	\$318,443.80	\$290,696.90
SUBTOTAL STOKESBURY SECTION 1 SANITARY SEWER ITEMS	\$318,215.50	\$313,390.40
SUBTOTAL STOKESBURY SECTION 1 STORM SEWER ITEMS	\$494,261.50	\$534,257.55
SUBTOTAL STOKESBURY ROAD WATER ITEMS	\$295,237.20	\$318,157.25
SUBTOTAL STOKESBURY ROAD SANITARY SEWER ITEMS	\$285,185.30	\$244,023.45
SUBTOTAL STOKESBURY ROAD STORM SEWER ITEMS	\$261,837.60	\$249,152.25
SUBTOTAL STOKESBURY DETENTION ITEMS	\$312,704.00	\$481,656.15
SUBTOTAL STOKESBURY DRAINAGE STRUCTURES ITEMS	\$801,311.20	\$781,438.75
SUBTOTAL STOKESBURY PHASE 1 WS&D MISCELLANEOUS ITEMS	\$121,380.00	\$142,727.30
TOTAL AMOUNT BASE BID	\$3,208,576.10	\$3,355,500.00
ALTERNATE 1		
TOTAL AMOUNT BASE BID	\$3,208,576.10	\$3,355,500.00
SUBTOTAL ALTERNATE 1	\$1,577,318.50	\$1,704,000.00
TOTAL AMOUNT INCLUDING ALTERNATE 1	\$4,785,894.60	\$5,059,500.00

 Page 21 of 21
 FRN F-1386

 LJA Engineering, Inc.